ERK ’Q‘ﬂ

- Using 6.5mm needles & any
oddments of Aran wool.

Cast on 60 stitches loosely.

Knit any pattern you wish until
the shawl measures 137cm.

Alternatively to make it more interesting
| used the following pattern.

Row 1 ( right side): K 1* YO, slip 1 as if
to knit, k 1, YO PSSO repeat from * Row
2 (P2 drop yarn over)to last st. K 1.
Row 3: K2 *YO,slip1 knit wise, k1,YO
,PSSO. Repeat from *to last stitch, k1.
Row 4: P3 (drop yarn over,P2) across.

Repeat row 1-4 until shawl measures 137cm.
Cast off loosely.

Alternatively choose any stitch that
you feel comfortable using.

We are looking for knee blankets
for our elderly patients
Dimension = 36 inches square
Any pattern, any thickness

See above for examples

Thank you for
your help




